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1 (15%)
% f(z) =22 +2 € F3[z] UK g(x) = 2° + 22° + 2 + 2 € Fa]

(1) SRt f A g MR a2
(2) REFIE K ZIR u, v € Falz] M43

u(z)f(z) +v(x)g(z) =2 +z +1

2 (2047)

ARRSFVUANE, FINT15y, ARG
(1) ®F R, G WaERTE U G R,
(

)
2)  (Z)710Z)* EA 168 T
(3)  (Z/710Z)* A1 (Z/319Z)* #AAENEHHE, HEATAFEM.
(4) % f e Qz], W ged(f, f) # 1 ¥ HAMHEAEATLLHR ¢ € Q[z],
¢lf-

3 (15%97)

Yoy = (136)(249758) € Sy , 0 = (145)(289736) € So.
(1) Ko = 010, WAL E LRI,
(2) KoM FH, AR
(3) R—NE#er € Soffifdr—1loyT = os.



4 (10%))

(1) KRBT B/ IEJFAR
(2) RAFA86 K IEJFAR b fe /N4

5 (1043)

Wf(z)=at—a®+2® -2+ 1€ Zlz]
(1) UEW f (z) FEQz] AN T 4.
4
(2) Wan, g, az, g B F ()N EEHAR, K> ol
=1

6 (109)

Wf(z) =27 +122° + 182* 4 62° + 2422 + 12, g(x) = 2* — 622 — 3x + 2.
(D)IEMZ A fEZ (2] AT L.
(23R Z X g T R EAR, I RIAELEZ ] AT L) 73

7 (15%9)

(1) THE LR S (5228,
(2) UEW: XS 8% a, a@ 8257 AR 24 HAY 2 & 2 25 7 AR — IR AR,
(3) R FTH R, #1152 + 22 + 11 € Fp[2] R AT 4.

8 (10%)

WRNE L WIF, RINEFAEM £ RFCNRIINKFRAE, 5 VN AR,
M C N CR,WIN =MN = R. iF#:
(1) BpNEREL WZAEFEpZ A HAKHAE . (29)
(2) EHAR0)EIMFHIN KB, BEA (o) R IF I — 76 2 W alHAF (2] i K
HAE.(29)
(3) M < R RIFIFRERAR 24 HAN 24 R/ MR (243)
(FE: IRATAEBAM S REM o R, MR/ MRS L35 HIR)
(4) Z[z]H Ha? + VRIE R B pE R EAE (22 + 1, p) R KERAE D 2 42
(

457)



